O T (mean) L= JI(H 2t(expected value)

- FA9AE e 3%

EX) = fo (x:)  (discrete distribution)

i=1

f xf(x)dx (continuos distribution)

Discrete Distribution Continuous Distribution

o ——

Q =dtk(variance)t I Z M Xl (standard deviation)
- B FHAAAERE Hoj AXEE YgUE &%
- EFUA : FEHRFY 2L GYoA Y AX giF &5

VAR(x) = E[(x - )]

= Z (xi- 10)* £ () (discrete distribution)

i=1

[:o (x = p) f(x)dx (continuos distribution)

o (x) = VAR(x) = { E[(x — 2)’]

M : mean, expected value
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O Sample Case

0.5

0.4

0.3

Frequency
0.2
0.1
3 4 5
Value
-
X(&t) 1 2 3 4 5 2l
fix) (BlE) 0.1 0.2 0.4 0.2 0.1 1
xflx) 0.1 0.4 1.2 0.8 0.5 3
E(X)=> xf(x)=3
i=1
- HEHX
X- [ -2 -1 0 2 A
(- 1)? 4 0 4 0
f(x) 0.1 0.2 0.4 0.2 0.1 1
(x- 1 )*fix) 0.4 0.2 0 0.2 0.4 1.2

[0()? = (x- )? f(x) =12 o(x)=+12=1.1




Q normal distribution

(x-p)*
e 202

S = e

2no

O EZ0 p0ld 2401 6®2 Normal Distribution

(x-p)*
f(X)=——=e "  —w<x<©
2no

Plu-o<X<pu+o0}=0.683
P{u-20<X<pu+20}=0954

P{p-30 <X < pu+30}=0.997

RN

-3¢ 20 -G u o] 2c
«—»
0.683
0.954

A

v




25 B:3 Xt HE(3 order moment) i 2H T (skewness)

Q 3x A8

s =3 k- )’

i & (skewness)

[ o=y’ £ ()i

a<0: 95 71803 (5= mgrt
a=0: F$UA
a>0: FF07 7]&olR
............... )-."— r\\.(.—— \.
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